
      

 6 + 2 =  

   

      

Practice Question 

Key Stage 1 
SATs style Arithmetic Test 

(New Curriculum) 



      

1 
   

      

4 + 6 =  

      

2 
   

      

17 - 7 =  



      

3 
   

      

63 + 10 =  

      

4 
   

      

16 - 5 =  



      

5 
   

      

16 + 4 + 4 =  

      

6 
   

      

28 - 7 =  



      

7  + 6 = 10 
  

      

  

      

8 
   

      

57 + 6 =  



      

9 
   

      

9 + 4 + 3 =  

      

10 
   

      

56 + 14 =  



      

11 
   

      

68 - 30 =  

      

12   = 40 
  

      

70 -  



      

13 
   

      

7 x 10 =  

      

14 
   

      

4 x 0 =  



      

15 
   

      

5 x 5 =  

      

16 
   

      

14 ÷ 2 =  



      

17 
   

      

15 ÷ 3 =  

      

18 
   

      

¼ of 40 =  



      

19 
   

      

35 + 26 =  

      

20 
   

      

76 - 31 =  

               

               

               

               

               

               

               

               



      

21 
   

      

½ of 50 =  

      

22 
   

      

80 - 18 =  



      

23  = 83 
  

      

55 +    

               

               

               

               

               

               

               

               

      

24 
   

      

 of 15 =  



      

24 
   

      

¾ of 20 =  

END OF TEST 



1.   10 14.  0 

2.  10 15.  25 

3.  73 16.  7 

4.  11 17.  5 

5.  24 18.  10 

6.  21 19.  61 

7.  4 20.  45 

8.  63 21.  25 

9.  16 22.  62 

10.  70 23.  28 

11.  38 24.  5 

12.  30 25.  15 

13.  70  

Answers (1 mark for each correct answer) 


